Sl
T2O Bo Y BE
2 72 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
21 19,606,673 18,784,443 822,230
= 741,400
Al 18,865,273
Y 2 E EE 13,294,660 12,407,589 887,071
== 666,400
Al 12,628,260
2 =7X2 6,859,300 6,020,510 838,790
< 48,900
Al 6,810,400
2 WSEXIAM 13,400 13,400 0
= 13,400
101 21AH| 13,400 13,400 0
= 13,400
VSIS EES=EPS 13,400 13,400 0
ONLE DEY TAR 2I2AHI(AIBI0IRE)
268,000 +50H 13,400
=S 13,400
FANEFE Itg & S| 2 201,000 192,240 8,760
201 er2 3| 201,000 192,240 8,760
02 S3=4gl 201,000 192,240 8,760
QAL (SI1) IIZA =42
120,000 x18CH*12] 2,160
OH&(3J) 28s
1,000,000& x10CH*13] 10,000
OA&xE & FHI(SI]) 82N 23
40,0002 *13CH 22 1,040
OH& X 2 FHI(SI]) sXl2ell
2,000,000 = 18CH 36,000
ozExtg dlles 2003 »500Kw+ 12 1,200
OALXE A HHI(SI, MEZH) *FH
1,50024+350 £ *18CH* 12 113,400
Ol=sA T2E+XE RAl2elt]
400,000 62| 2,400
Oz Y FAXE 4258 7Y & |A&
cldl(2CH) 800,000 »2CH*6E 9,600
Ot FX2eldl
300,000& * 122 3,600
OAIE2H RAl2el]
200, 0002 12 »2CH 4,800
O2=20 =Xl
400,000 x 123 »1CH 4,800
OS2 sAl2eldl(03W,000)
400, 0002 «2CH*12& 9,600
OASHHl |AZHI(H=I], JIAHSE, B
|, B8&37) 200,000 x 12 2,400
DEIE NEHS 14,800 12,400 2,400
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2A: E2
Y T2 22| U HE
o2 &2 A2 (St &)
SA - BB - S(3H) - MRAY - BES Ol &b ot e MimE=E)
OTUAD BALLBA
20,000,000& 14! 20,000
OEESD RXNLL2A
10,000,000% 10 A& 10,000
0D SALEZA
30,000, 000& 270 2~ 60,000
OESX S1 HA ¢ HC 0N AR
(Z=0IEO4 0l &) 27,000,000& 14! 27,000
AIOHCHZH 1,802,680 3,371,680 1,569,000
201 LEtEAH| 491,880 410,680 81,200
01 AFR22t2ldl 393,480 309,480 84,000
ONMAXM LAB2A 2AX2
5,000,000& %13l 5,000
OREER 22X} Yateo| U Watst 2
SoE =8 200, 0002 *36 7,200
OSHE MAX AXt &H 202
2,000,000+ 1CH*14MSH S 28,000
022N HERAR 5E HI AX2
800,000& *1CH*60 48,000
OLHEHN HARAR HE EI AXR
800,000& *1CH*60Y 48,000
ORI} Y ULHAQICH] HAXAR 15E &
o AXi=s 800, 000& *x3CH*60 144,000
OSADIEE2 HAEXR 7S €T AR
800,000& *1CH*60 48,000
ONAERYE WS (EXY|) URE
800,000& *1CH+60Y 48,000
OS2 MAZY 22X SAH|(MAl, XAl
8,000 x36H x24] x30 17,280
02 S32ZH| 98,400 101,200 A2,800
ONAEZH|(2eHAELI], MAD|) S22l
SHE EZE 1,000,000& *32CH 32,000
OEHEIR MAI| ARK ASHES I
30,000,000& *1AH 30,000
ONARYE AR SRH(SHE)
500,003+ 1423 = 7,000
OEBEPEAl HAI| QSN2IHI(SHE)
100, 000& *69CH 6,900
OY=uED|(&#H3) ¥ S0IAE S22l
1,500,000 *5CH 7,500
OLLLHOHHOITIE MNYE2 T2 HYWK
2 Mgd #2323 2,500, 0002 x4 10,000
OXNSULSAAL S4 L HIR2
400,000 5= x2I 2~ 4,000
ONAERE SOIAE HIBAZ
1,000,000 = 1CH 1,000
206 MHEH| 22,000 22,000
01 =4I 22,000 22,000
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—

=

M 20
M 29 P2l Y HE
el E2 |2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONEXM IS 7 (HE, =2, mat
E 8) 500, 0003 *20H 10,000
oS 2O 3002 *40,000H 12,000
401 Al HIZ R OHHI ,036,300 2,524,000 1,487,700
01 AlZ8| ,030,000 2,515,000 1,485,000
OZ=ZACINRL AFSA
700,000,000 * 10 2 700,000
O 2CARA HieXelAEEXSA
300,000,000%17H A 300,000
ON4 EELMHESA
1,000,000 *3CH*10! 30,000
03 A& S CHYI 6,300 9,000 22,700
OZ=ZHCIMRA SAH =8
1,000,000, 0002 +0.63% 6,300
405 AHaHE = 252,500 415,000 A162,500
01 ML ESF SHI 252,500 415,000 /162,500
ONMAEXUE BbEET D DAL Wi+
60,000, 0002 +2CH 120,000
OMEXUE bEEZ MEYE WA 7
15,000, 0002 =2CH 30,000
OSHS HNEAEE 1= &4X)| WA+
11,000,000 *4CH 44,000
o2& ARA T P (Y, A%, =
AHE) 500,000 *25H 12,500
O ZRLIARA JHEAS 2V, EE1,
NIED|, A XD1) 1,500,000 4CH 6,000
O=ZCIAMRA AR0 [HE dE7Y
1,000,000 +207H 20,000
OZcHa®)| HHIZ clZE F#Y
20,000,000 1CH 20,000
=z DI=EXN 24 970,000 300,000 670,000
401 AlZHIZ SO 970,000 300,000 670,000
01 A28l 970,000 300,000 670,000
OANE, s0EEZ IXN=S8A 24
1,000,000 x970m’ 970,000
=3[ M4 2e] 9,000 10,000 21,000
201 er23| 9,000 10,000 21,000
01 At2tltl 9,000 10,000 21,000
O=ZFML SEHX =8 & S)==2
900,000 %102 9,000
CeEs 2 7Rz 714,120 1,807,670 21,008,550
=S 35,500
Al 678,620
101 ©1AH| 60,000 108,000 48,000
04 JIZtN2Z2 XS E+ 60,000 108,000 /48,000
— 4 —
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2N &2
M 29 P2l Y HE
gelr E2 |2 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OZ=Z2RX 222 XM PL(AUE, S
g) 1,000,000& * 155 15,000
OS2, WESHHNMEXT 2 (A S EX
o HEANQRE 5) 2,000,000& 108 20,000
OE2E48 RYTD Y IHEE 7Y
150,000& 55+ 16H 12,000
OL2H H=ZYE M=) & 7
11,0002 30074 3,300
OSRENY LFE EXNT U(ZEA
QEALE) 2,000,000 *25JH 2~ 50,000
207 AR 100,000 100,000
02 MADHEY| 100,000 100,000
OS2RHE FPBINAY 25 8
100,000,000 * 14 100,000
305 A2 S 30,000 30,000
01 Hha3gs 30,000 30,000
O=0ttial & Fa= E70 HE Eolitiat
= 30,000,000& 13l 30,000
401 Al&HIZ 20| 71,000 1,268,200 A1,197,200
= 35,500
Al 35,500
01 AlEHI 71,000 1,261,000 21,190,000
OUWSAID &2 R N (SELA 212)
71,000,000 *1IH A 71,000
& 35,500
Al 35,500
405 XHeHE S| 26,500 10,250 16,250
01 AL =ZF S| 26,500 10,250 16,250
CI2OEAE B8 537 7Y
2,500,000 *3CH 7,500
OzzZ2elE =¥ JH=S uM 7L
1,000,000 *3CH 3,000
oOLZZeE 58 =) &
16,000,000 *1CH 16,000
LAEXE NS 130, 100 129,500 600
201 Ler2 | 130, 100 129,500 600
01 At 22|l 130,100 129,500 600
ox4&x=E: ¥ &4 FH|
10,800,000& 122 129,600
O-&FXIZE ENE FHIYX
100,000 52| 500
2ZUHMRIAEE S MEEISETAL 100,000 100,000
207 AR LI 100,000 100,000
01 A= H| 100,000 100,000
ZCUMRIEZ S MEEISETAIEHE(S
ok) 100,000,000& * 14! 100,000




SN E21
W T2 e ¢ =3
gelr E2 |2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ARR 2 2Z8S 1,957,200 1,957,200
401 AlEHIL 2L 1,957,200 1,957,200
01 Al&H] 1,950,000 1,950,000
OF2E2 UEMB(NE, SHEZZ, ZA
HE 2 AAC2) 200, 00024 *1,500km 300,000
O2% M= & FHHIAY
20,000,000+ 144 S S 280,000
OZ272 Ul Hi-AlE =4
1,000,0002 %5004 2 50,000
OZ2 SALHA LA HIISH
10,000,00024 23| 20,000
OFREZR FNBFALANE, sHEER)
5,000, 0002 *507H 2 250,000
OFQE2 SAULFAIRY(ZANEER)
5,000,000 *50H 2 250,000
OLSE2 METH U AIES FUIAY
5,000,0002 %1074 2 50,000
O=EE2 OtAZ M LD|
50,000,0002 #4742 200,000
OFH T2AAF DIAT2 OIAZ TN LD
100,0002*2,000m 200,000
OFH T2AAF HIAT2 OIAZ TN LD
100,0002 *2,000m 200,000
OZZOFAILS(OIEYY, A S)F|
300,000 *500m 150,000
NP=E 7,200 0 7,200
OAAR T2RAELAY FH
2,000,000,0002*0. 36% 7,200
N 22H 200,000 1,425,000 1,225,000
NE7TSH T2TE ZA 200,000 0 200,000
401 Al HIZL 2L 200,000 0 200,000
01 Al&H] 200,000 0 200,000
OANE7EH 2SR ZAL
500,000%400m#! 200,000
SOIECR ST 2,806,600 4,000,000 1,198,400
NEBSH(E24H) 2 501,800 1,000,000 498,200
401 Al HIL 2L 501,800 1,000,000 498,200
01 Al&t] 500,000 1,000,000 500,000
OLIE2BS (=24) sSHEEZ HZEIA
500,0002*1,000m 500,000
NP=E 1,800 0 1,800
OINFEE] 500,000,0002 0. 36% 1,800
HEIISH (M) HEE 500,000 70,000 430,000
401 AlEHIZL 2L 500,000 70,000 430,000
01 Al&H] 500,000 70,000 430,000




2A E23
M TRgpe Y 2E
2ol SHEZZ =2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHEINIS(AUY) SOHELZ SR SA
500,000 *1,000m 500,000
=gl sHEZZ SHEISAM 302,400 1,600,000 21,297,600
401 AIEHIX R0 302,400 1,600,000 1,297,600
01 A28l 300,000 1,600,000 1,300,000
O4+Y2l SUEER HEITA
500,0002*600m 300,000
03 Al =rh| 2,400 0 2,400
04L2l SOECR HEEBA
2,400,000 *14] 2,400
SH3BSH(IHRA) BEHIA 300,000 100,000 200,000
401 AlEHIZ S 0HbI 300,000 100,000 200,000
01 Al&H| 300,000 100,000 200,000
OSABS (IHRE) SHEEZ HEESAK
H=ZAY) 300,000 *1,000m 300,000
HE2USH (GRH) B E 402,400 0 402,400
401 AIEHIZ SR HYI 402,400 0 402,400
01 Al&HI 400,000 0 400,000
OHIMASH (LX) 2HEY
500,0003 *800m 400,000
03 A2 THYI 2,400 0 2,400
OAIE2HYI 400,000,000&*0. 6% 2,400
AE2RSH(YAH) SOHEEZ SR SA 200,000 150,000 50,000
401 AIZHIX R0 200,000 150,000 50,000
01 AlZ2H| 200,000 150,000 50,000
OUIE2RS (HAlN) S0ELZZ HZISA
200,000 *1,000m 200,000
285 M (AhH) SHEEZ SHETIA 200,000 100,000 100,000
401 Al HIZL S 0HYI 200,000 100,000 100,000
01 Al&HI 200,000 100,000 100,000
OEH28S (A4H) SOHELZZ SRESA
500, 0002 *400m 200,000
SA0ISHOIEY) SOHEZZ SR SA 100,000 0 100,000
401 AIEHIX R0 100,000 0 100,000
01 A28l 100,000 0 100,000
OBHOISH (ObEd) 2BY
500,000 *200m 100,000
SHEZZ(dad) &2 150,000 0 150,000
401 AIEHIZ R HYI 150,000 0 150,000
01 Al&H| 150,000 0 150,000
OS0HEZ2Z(d4d) #EY
150,000& *1,000m 150,000
SHMsH(4td) &2 100,000 0 100,000
401 AlEHIZ S 0HYI 100,000 0 100,000




2A E23
o T2 wo Y BB
&l s0EEZ 22 F (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 100,000 0 100,000
OZA UG H (Mt )= H
500, 000 *200m 100,000
HAeesd(dud) #2 50,000 50,000
401 Al HIZ S OHbI 50,000 50,000
01 A28l 50,000 50,000
MEARSH(MDH) ST
500,000& *100m 50,000
CIOIEAIE =F 848,000 962,079 A114,079
S 497,500
Al 350,500
Lol E5 7% M AL (HEALY) 368,000 210,000 148,000
= 179,000
Al 179,000
401 A& HIX R0 368,000 210,000 148,000
= 179,000
Al 179,000
01 A28l 368,000 210,000 148,000
OL02S57S A
35,800,000 * 1004 2~ 368,000
< 179,000
Al 179,000
020l 2579 AL 490,000 490,000 0
= 318,500
Al 171,500
401 AlEHIZ S 0HbI 490,000 490,000 0
= 318,500
Al 171,500
01 A28l 490,000 490,000 0
O0B0I2E2 7Y JHE ALY
490,000,000 *14] 490,000
== 318,500
Al 171,500
20 2,580,760 0 2,580,760
= 120,000
Al 2,460,760
e & 22 2,580,760 0 2,580,760
= 120,000
Al 2,460,760
401 AIZHIX S0 2,580,760 0 2,580,760
=S 120,000
Al 2,460,760
01 AlZ28| 2,575,000 0 2,575,000




2M 20
M C2Y 2l R =S
chelr 2 EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
ONESLSHETZ XHEEM ALY
4,200m=100,000& 420,000
ONHY YRE2| A5 HEIHE M
1,000m*400,000& 400,000
OF0IY =Ll sHELZ 2B H o=
TEA 1,000m=100,000& 100,000
O&0IYH Hyel sHEZZ 18=d o=
TEA 1,000m=100,000& 100,000
OF0IE S0tR] NS REH SH=ETDA
400m=100, 0002 40,000
Od0IE Sl sHETZ 3125d oS
TEA 300m=100,000& 30,000
OZSED 93 BTHHIBA
2,000m+100,000& 200,000
OAE2sH (22U 212)2E FHl SAHA
Q) 1,500m=100,000& 150,000
O=HY gRel T2ET HEA
400m=100,000& 40,000
OAME2SH OtAR SMLI|(SHel~F2lel)
2 == HUISA 1,000m=300,000& 300,000
OANE12sd Sde| =72t OtAZ M2
Il BAk 400m=100,000& 40,000
ONT4BH OLAR M| BAHEY)
800m=100,000& 80,000
OsSHEEZZ 1015 OIABIMRIIBAHE
) 800m=100,000& 80,000
OAlE2s 8 OtAE AMRI| SAHSEYS
&) 1,500m=100,000& 150,000
OMOt=sL S8tz FHI(ZSE A4
1,000m+90,000& 90,000
= 90,000
O&s el sHEZR(2065) 3|
60,000,000& *14] 60,000
< 30,000
Al 30,000
OsHEZZ 01SH OtAE IHRI| SA
750m=100,000& 75,000
OANE & SHEEZ RAEFAY
100,000 *1,000m 100,000
OESAbel su Hdet A Etegd &
29 20,000,000& *14] 20,000
OUEX=1 MYE=2 BT HX SAt
800,000 *100m 80,000
OtEYE 422| == FHISA
100m+200,000& 20,000
03 Al CHYI 5,760 0 5,760
OAIE 20| 1,600,000, 000& *0. 36% 5,760
SAHEEZ HE 6,230,830 6,302,382 AT1,552

_10_




2A:

X XH -
o=

S22
SAHEEZ JHE

=2l TAIHEEZ JHE & 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 75,000
Al 6,155,830
SAEAIE B4 803,800 403,800 400,000
SY0IS= g 3,800 3,800
401 Al HIZL 201 3,800 3,800
01 Al&H| 3,800 3,800
O=AHEEz 20152 XNs
380,000& 10043 3,800
OI=8A 24 800,000 400,000 400,000
401 AlZHIZ SO 800,000 400,000 400,000
01 A28l 800,000 400,000 400,000
CAHEEZ DIXSSK EX0HE
100,000,000 x82 X 800,000
JBIAIE &3 AMHOIBAIERERASEEN) 462 461 1
(Gla1l]] 462 461 1
801 OflHIH 462 461 1
01 EHolbI8l 462 461 1
@] 462,000 12 462
SAAEEZ JHE & 22 5,426,568 5,898, 121 N471,553
= 75,000
Al 5,351,568
SAHEEZ ANERX B 234,028 1,566,086 1,332,058
201 fer=3| 13,200 13,200 0
® 2=2%| 13,200 13,200 0
048D 227 FHRNB2| Y 242
600,000 * 122 7,200
O+881 ) 323 U=
500,000 * 122 6,000
401 AIEHIX R0 220,828 1,480,886 1,260,058
01 AlZH| 220,000 1,475,000 1,255,000
OEAASEZ ANERINE
200,000 *250m 50,000
OTAHEEZ Xt ZAL
100, 000& *500m 50,000
OEeg TAHEZZE 1-306s M (Lichstn ¢
JH==2 FHIZA 100, 0002 *600m 60,000
Os%E sdliel ZAHEEZ 22180154
QI HHIS A 60,000,000 * 14! 60,000
03 Al 20HHI 828 5,886 25,058
OAIZ 20l 230,000,000 *0. 36% 828
SASTAHHEZ e 1,505,400 320,000 1,185,400
401 Al HIZL 01| 1,505,400 320,000 1,185,400
01 Al&HI 1,500,000 320,000 1,180,000
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2M &2
M CAHEC2 HA

SRl TAAEEZ OHE & 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBACANETZ SE3R01SH (SAEA
NA~ZLZO) HTZTA
10,000, 0002 *150m 1,500,000
03 AIZ 2 THYI 5,400 0 5,400
OsYE TAHEEZ 4
1,500,000, 000& *0.36% 5,400
23S TAHECZOHM 1,655,940 1,004,212 651,728
< 75,000
Al 1,580,940
401 Al HIZL S 0HYI 1,655,940 1,004,212 651,728
S 75,000
Al 1,580,940
01 Al&HI 1,650,000 1,000,000 650,000
OYRCAHEER ¢§34303§M($% o)
HESAH 1,000,0002*1,000m 1,000,000
OYEZAIAEEZ AZ22-871SH(=ES~Al
=) HESA 500,000 *1,000m 500,000
OLF ZH0IS(EI0l01YIYR) oITIHA
SAt 1,000,000& *150m 150,000
= 75,000
Al 75,000
03 AIZ 2 THYI 5,940 4,212 1,728
O3S TAHEEZ JHE
1,650,000,000& +0.36% 5,940
g2 TAHECZ JHE 1,701,200 600,000 1,101,200
201 2= 1,200 0 1,200
01 At22t2lt] 1,200 0 1,200
ouze-10154 KM HEE
1,200,000 *14] 1,200
401 Al HIZ 2018 1,700,000 600,000 1,100,000
01 Al&H| 1,700,000 600,000 1,100,000
OLYEZAIAEZZ AZFUSH(UHES~E
AS)HESA 1,000,000 *700m 700,000
OYITAAHEER A2121256(LEH
D-HAFT) SHIA 10,000, OOO 2 +100m 1,000,000
SEE TAAEE2IH- 270,000 120,922 149,078
401 Al HIZL 201 270,000 120,922 149,078
01 Al&H| 270,000 120,000 150,000

120, 000& %500m 60,000

70,0002 +3,000m 210,000
HEHTAIHE =2 HE 60,000 0 60,000
401 Al HIZL S 0HYI 60,000 0 60,000
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2A E23
B CAHEZZ e
Ciell CAHETR A 2 2l (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 60,000 0 60,000
OHECANETZ S22-401SH (=EE2)
HESAH 100,000 *600m 60,000
HY2HZH(Z2M) 81,183 74,472 6,711
J1I=288l 81,183 74,472 6,711
23| 81,183 74,472 6.711
201 2egh=3| 33,288 29,784 3,504
01 At22t2lt] 33,288 29,784 3,504
O=gHt| 8,000&x 19«7 L+ 12 12,768
Odgt+==H| 90,0002 x19H *12& 20,520
202 048l 41,040 38,328 2,712
01 2L AH| 41,040 31,200 9,840
ogF=8 &0l
180,000« 19 122 41,040
203 g4l 5,655 5,160 495
M EASHLRFAH 5,655 5,160 495
ORNSgER=AHI 435,000 133 5,65
204 ARt AH| 1,200 1,200
01 MG AR Y] 1,200 1,200
OMHIHR Y| 100,000& * 12 1,200
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